
Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

<T1

DOMUS
T1>

Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

R
e

l.
 2

0
1

3
-1

0
1

7
0

1
1
1

Laundry machines



Suitable for: Suitable for:
<|3786153 |> DO OR GASKET ø 310 m m <|3786152 |> DO OR GASKET ø 395 m m

for Washing machine (DANUBE) WED8 for Washing machine (DANUBE) WED13 - WED18 - WED25
 for Washing machine (DOMUS) DFI9 - W10 - W9  for Washing machine (DOMUS) DFI13 - DFI18 - DFI27
 for Washing machine (FAGOR) LA-10M - LAC-10  for Washing machine (FAGOR) LA-13M - LA-18M
 LAC-14 - LAC-7 - LB-10M - LC-10 - LC-14 - LC-7  LB-13M - LB-18M
 LC-8 - LC/AC-7 - LC/E-10 - LC/E-14 - LC/E-7  
 LF-10 - LF-14 - LF-7 - LF-8  

    

DOMUS  4XFP440502000  DOMUS  4XFP620528000

<|3786145 |> DO OR GASKET ø 405 m m <|3786146 |> DO OR GASKET ø 570 m m
for Washing machine (DOMUS) W13 - W18 sponge - section 40x20 mm

 for Washing machine (FAGOR) LAC-25 - LAC-55  for Dryer (DOMUS) S27 - S37
 LC-13 - LC-18 - LC-25 - LF-13 - LF-18 - LF-25  for Dryer (FAGOR) SF-10 - SF-15 - SF-22 - SF-31

    

DOMUS  4XFP530502000  DOMUS  1BE03442

<T2

Bearings
T2>

<|3063048 |> BEAR IN G  6209 2Z <|3063047 |> BEAR IN G  6210 2Z
for Washing machine (DOMUS) DFI9 - W10 - W9 for Washing machine (DOMUS) DFI13 - DFI18 - W13

 for Washing machine (FAGOR) LA-10M - LB-10M - LC-8  W18
 LF-8  for Washing machine (FAGOR) LA-13M - LB-13M
 for Washing machine (PRIMUS) F10 - F7 - RS10  LC-13 - LF-13
 RS16  
 for Washing machine (WHIRLPOOL) LWS100 - LW100  
 WAC11 - WAC17  

    

DOMUS  4XFP616008000  DOMUS  4XFP626008000

<|3063049 |> BEAR IN G  6211 2RS <|3063050 |> BEAR IN G  6212 2RS
for Washing machine (DOMUS) DFI9 - W10 - W9 for Washing machine (DOMUS) DFI13 - DFI18 - W13

 for Washing machine (FAGOR) LA-10M - LB-10M - LC-8  W18
 LF-8  for Washing machine (FAGOR) LA-13M - LA-18M
  LB-13M - LB-18M - LC-13 - LC-18 - LF-13
  LF-18

    

DOMUS  4XFP616009000  DOMUS  4XFP626009000

<T1

DOMUS
T1>



Suitable for: Suitable for:
<|3063059 |> BEAR IN G  6216 2RS <|3063058 |> BEAR IN G  6312 2Z

for Washing machine (DOMUS) DFI27 for FAGOR WASHING MACHINE LA25M
 for Washing machine (FAGOR) LA-25M  for DOMUS WASHING MACHINE DFI27
  for Washing machine (DOMUS) LA25M
  for Washing machine (FAGOR) DFI27
  for Washing machine (GIRBAU) HS4012 - LS320

    

DOMUS  4XFP644903000  DOMUS  4XFP644904000

<T2

Belts
T2>

<|3062026 |> M U LTIG R IP BELT  J 1854 H19 7 GR OOVES <|3062030 |> M U LTIG R IP BELT J 1300 H19 7 G R OOVES
for Washing machine (DANUBE) WED25 for Washing machine (DANUBE) WED8

 for Washing machine (DOMUS) DFI27  for Washing machine (DOMUS) DFI9 - W10 - W9
 for Washing machine (FAGOR) LA-25M  for Washing machine (FAGOR) LA-10M - LB-10M - LC-8
  LF-8

    

DOMUS  4XFP645901000  DOMUS  4XFP615902000

<|3062045 |> M U LTIG R IP BELT J 1600 H19 7 G R OOVES <|3062029 |> M U LTIG R IP BELT J1663 H 19 7 G ROOVES
for Washing machine (DANUBE) WED13 for Washing machine (DANUBE) WED18

 for Washing machine (DOMUS) DFI13 - W13  for Washing machine (DOMUS) DFI18 - W18
 for Washing machine (FAGOR) LA-13M - LB-13M  for Washing machine (FAGOR) LA-18M - LB-18M
 LC-13 - LF-13  LC-18 - LF-18

    

DOMUS  4XFP625903000  DOMUS  4XFP635902000

<T2

Electromagnets
T2>

<|3121026 |> DO OR OPEN ING  ELECTROM AG NET 24V <| |>

for WASHING MACHINE DANUBE WED 8-10-13-18
 for Washing machine (DOMUS) DFI13 - DFI18 - DFI27  
 DFI9 - W10 - W13 - W18 - W9  
 for Washing machine (FAGOR) LA-10M - LA-13M  
 LA-18M - LA-25M - LB-10M - LB-13M - LB-18M  
 LC-13 - LC-18 - LC-8 - LF-13 - LF-18 - LF-25  
 LF-8  

    

DOMUS  4XFP613002000  

<T1

DOMUS
T1>



Suitable for: Suitable for:

<T2

Filters
T2>

<|7101258 |> AIR  F ILTER  B AG  ø 255 m m <| |>

for Dryer (DOMUS) SR-10MP
 for Dryer (FAGOR) SR-13MP - SR10MP  

    

DOMUS  DO1SK00016  

<T2

Gaskets and seals
T2>

<|5035462 |> V-R ING  G ASKET 45A BASKET SH AFT <|5035463 |> V-R ING  G ASKET 55A BASKET SH AFT
for Washing machine (DOMUS) DFI15R for Washing machine (DOMUS) DFI15R

    

DOMUS  4XF10248  DOMUS  4XF10249

<|5035464 |> V-R ING  G ASKET 65S BA SKET SHAF T <|5035465 |> V-R ING  G ASKET 75S BA SKET SHAF T
for Washing machine (DOMUS) DFI26R for Washing machine (DOMUS) DFI26R

    

DOMUS  4XF10405  DOMUS  4XF10406

<T2

Handles
T2>

<|3242499 |> DO OR HAN DLE M 8 <|3242495 |> DO OR LOCKIN G  PIN 8x8 m m
for Washing machine (DOMUS) DFI13 - DFI18 - DFI27 for Washing machine (DOMUS) DFI13 - DFI18 - DFI27

 DFI9 - W10 - W13 - W18 - W9  DFI9 - W10 - W13 - W18 - W9
 for Washing machine (FAGOR) LC10 - LC14 - LC7  for Washing machine (FAGOR) LC10 - LC14 - LC7
 LF10 - LF14 - LF7  LF10 - LF14 - LF7

    

DOMUS  4XFP520512000  DOMUS  4XFP520500000

<T1

DOMUS
T1>



Suitable for: Suitable for:
<|3242496 |> ELASTIC R ING  F OR HAN DLE SU PPOR T <|3242500 |> EXTENSION BUSH  ø 14x27 m m

for Washing machine (DOMUS) DFI13 - DFI18 - DFI27 for Washing machine (DOMUS) DFI13 - DFI18 - DFI9
 DFI9 - W10 - W13 - W18 - W9  W13 - W18 - W9
 for Washing machine (FAGOR) LC10 - LC14 - LC7  for Washing machine (FAGOR) LC10 - LC14 - LC7
 LF10 - LF14 - LF7  LF10 - LF14 - LF7

    

DOMUS  4XP530542000  DOMUS  4XFP530544000

<|3242498 |> HA ND LE SPIN DLE SU PPORT <|3242497 |> PIN GU ID E
for Washing machine (DOMUS) DFI13 - DFI18 - DFI27 for Washing machine (DOMUS) DFI13 - DFI18 - DFI27

 DFI9 - W10 - W13 - W18 - W9  DFI9 - W10 - W13 - W18 - W9
 for Washing machine (FAGOR) LC10 - LC14 - LC7  for Washing machine (FAGOR) LC10 - LC14 - LC7
 LF10 - LF14 - LF7  LF10 - LF14 - LF7

    

DOMUS  4XP520515000 DOMUS  4XP520516000  DOMUS  4XFP520503000

<|3242501 |> SPIND LE EX TEN SION  ø 10x59 m m <| |>

for Washing machine (DOMUS) DFI13 - DFI18 - DFI9
 W13 - W18 - W9  
 for Washing machine (FAGOR) LC10 - LC14 - LC7  
 LF10 - LF14 - LF7  

    

DOMUS  4XFP530542000  

<T2

Heating elements
T2>

<|3355885 |> HEATING  ELEM EN T 2000W  230V <|3355573 |> HEATING  ELEM EN T 3000W  220V
length 265 mm - width 65 mm length 280 mm - width 65 mm

 flange 80x26 mm  flange 80x25 mm
 for Washing machine (DANUBE) WED10WE - WED8  for Washing machine (DANUBE) WED13
 for Washing machine (DOMUS) DFI9 - W10 - W9  for Washing machine (DOMUS) DFI13 - W13
 for Washing machine (FAGOR) LA-10M - LB-10M - LC-8  for Washing machine (FAGOR) LA-13M - LB-13M
 LF-8  LC-13 - LF-13
  for Washing machine (IMESA) LM11 - LM14 - RC11
  RC14
  for Washing machine (WHIRLPOOL) AGB209/WP
  AGB210/WP - AGB215/WP - AGB216/WP - AGB232
  AGB233/WP - AGB238 - AGB239/WP - AGB248
  AGB249 - AGB538/WP

    

DOMUS  4XFP613008000  DOMUS  4XFP623005000

<T1

DOMUS
T1>



Suitable for: Suitable for:
<|3355876 |> HEATING  ELEM EN T 4000W  230V <|3355890 |> HEATING  ELEM EN T 4000W  230V

length 475 mm - width 65 mm length 350 mm - width 65 mm
 flange 80x27 mm  flange 80x26 mm
 for Washing machine (DOMUS) DFI57  for Washing machine (DANUBE) WED18
 for Washing machine (FAGOR) LAC-14 - LC-14  for Washing machine (DOMUS) DFI18 - W18
 LC/E-14 - LF-14  for Washing machine (FAGOR) LA-18M - LB-18M
  LC-18 - LF-18

    

DOMUS  4XFP183002000  DOMUS  4XFP633002000

<|3355891 |> HEATING  ELEM EN T 6000W  230V <| |>

length 510 mm - width 65 mm
 flange 80x26 mm  
 for Washing machine (DANUBE) WED25 - WED55 - WED60  
 for Washing machine (DOMUS) DFI27 - DFI57  
 for Washing machine (FAGOR) LA-25M - LAC-25  
 LAC-55 - LC-25 - LF-25 - LF-55  

    

DOMUS  4XFP533001000  

<T2

Microswitches
T2>

<|3240780 |> M AG NETIC M ICRO  SW ITCH  A061-1V <|3240136 |> M ICROSW ITCH 16A 250V
250V 0,04A - bulb ø 6x30 mm for Washing machine (DOMUS) DFI27 - W10

 cable length 220 mm  for Washing machine (FAGOR) LA-10M - LA-13M
 for Washing machine (DOMUS) DFI27 - DFI57  LA-18M - LA-25M - LB-10M - LB-13M - LB-18M
 for Washing machine (FAGOR) LA-10M - LA-13M  for Washing machine (GRANDIMPIANTI) WFEC11
 LA-18M - LA-25M  WFEC18 - WFEC6 - WFEC8 - WFP50 - WFP63 - WF11
  WF18 - WF23 - WF26 - WF33 - WF8 - WR11 - WR18
  WR26 - WR33 - WR8
  for Washing machine (IPSO) HC100 - HC135 - HC165
  HC60 - HC65 - HC75 - HF110 - HF132 - HF145
  HF150 - HF165 - HF176 - HF185 - HF205 - HF235
  HF245 - HF304 - HF450 - HF55 - HF570 - HF65
  HF75 - HF95 - HW131 - HW164 - HW55 - HW64
  HW72 - HW94 - WE110 - WE132 - WE165 - WE176
  WE181 - WE234 - WE245 - WE304 - WE55 - WE73
  WE95 - WFF100 - WFF135 - WFF150 - WFF165

    

DOMUS  4XFZ203009000  DOMUS  4XFP620526000

<T1

DOMUS
T1>



Suitable for: Suitable for:

<T2

Outlet solenoid valves and accessories
T2>

<|3120050 |> DR AIN  SOLEN OID VA LVE M D B-O-2 <|3120300 |> DR AIN  SOLEN OID VA LVE M D B-0-3
normally OPEN - 220/240V 50/60Hz 24AMP normally OPEN - 230V 50/60Hz 18AMP

 inlet ø 50 mm - outlet ø 50 mm  inlet ø 80 mm - outlet ø 75 mm
 overflow pipe ø 35 mm  overflow pipe ø 35 mm
 for Washing machine (AGA) 520/16 - 735/50  for Washing machine (DOMUS) DFI27 - DFI57
 for Washing machine (DOMUS) DFI13 - DFI18 - DFI9  for Washing machine (FAGOR) LA-25M - LAC-25
 W10 - W13 - W18 - W9  LAC-55 - LC-25 - LF-25 - LF-55
 for Washing machine (FAGOR) LA-10M - LA-13M  
 LA-18M - LAC-10 - LAC-14 - LAC-7 - LB-10M  
 LB-13M - LB-18M - LC-10 - LC-13 - LC-14  
 LC-18 - LC-7 - LC-8 - LF-10 - LF-13 - LF-14  
 LF-18 - LF-7 - LF-8  
 for Washing machine (IMESA) LM11 - LM14 - LM18  
 LM23 - LM6 - LM8 - RC11 - RC14 - RC18 - RC23  
 RC8 - R18  
 for Washing machine (WHIRLPOOL) AGB208/WP  

    

DOMUS  4XFP302120000  DOMUS  4XFP532103000

<T2

Pressure switches
T2>

<|7103527 |> PR ESSU RE SW ITCH  HO NEY W ELL C6065A11922 <| |>

pressure 0.4-6 mbar
 for Dryer (DOMUS) S17  
 for Dryer (FAGOR) S-17  

    

DOMUS  1AB01439  

<T2

Water tight seals
T2>

<|3453008 |> F LAN GE F OR  SH AF T <| |>

ø external 128 mm - ø internal 66 mm
 for FAGOR WASHING MACHINE LA10M  
 for DOMUS WASHING MACHINE W9-W10-DFI9  

    

DOMUS  4XFP616005000  

<T1

DOMUS
T1>



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

